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Exercice 1 :
A=7+4x8
A=7+ 32
A =39
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Exercice 2 :

Xx=132-11x10+4x25

x=132-110+ 10

CORRIGE -M. QUET

B=3x11-7x4 C=37-6x5
B=33-28 C=37-30

B=5 C=7
E=32+4-2+7x3 F=9x4+2-5x2
E=8-2+21 F=36+2-10
E=6+21 F=18-10

E=27 F=8

y=125-2-51+15-1,2
y=105-51+15-1.2

z2=120-4x5-7x8+54+9
z=120-20-56+6

x=22+10 y=54+15-172 z=100-56+6
X =32 y=204-1.2 7=44 + 6
y=19,2 z=50
t=22+3x15-15
t=22+45-15
t=265-15
t=25
Exercice 3 :
X=29+08x5 T=4x05+3x1,36 C=128-0,7x9
X=29+4 T=2+4,08 C=128-6,3
X=6,9 T =6,08 C=6,5
A=10-99-+3 E=023x5+9918 +17,1
A=10-33 E=115+58 E>X>A>C>T
A=6,7 E =6,95
Exercice 4 :
M=(6+2)x7 N =17 x (15-11) O=B5+65)x(14-95) P=(18-11)x(5+9)
M=8x7 N=17x4 O=10x45 P=7x14
M =56 N = 68 O =45 P =98
Exercice 5 :
A=6x(3+7) B=23-4x5 C=@B+5x(9-7) D=(13-7)+2
A=6x10 B=23-20 C=8x2 D=6+2
A =60 B=3 C=16 D=3
E=5-[4-(2+1)] F=B3+5x7)+2+1
E=5-(4-3) F=(3+35)+2+1
E=5-1 F=38+2+1
E=4 F=19+1
F=20

Exercice 6 :

(5+5)x(5+5) =100 6

5x(5+5+5)=75 10

5+(B+5)x5=55 55

(5+5) x(5+5)=10 75

5+(Bx5)+5=6 100
Exercice7: 20=3+7+10 31=3x7+10 40=10x (7 -23)

14=10+7-3 67=7x10-3 1=10+3+7)

Exercice 8 : [5x4—(1+2)]|x2=34





